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Monohybrid Crosses

Directions: Complete all of the following monohybrid crosses. For each cross show a key for each dominant and recessive trait, the genotypes of the individuals being crossed, the Punnett square and the resulting genotypic and phenotypic ratios. Answer the given question for each problem.
1. Some laboratory mice are spotted due to a dominant gene. Solid color is recessive. A homozygous solid color female is mated with a homozygous spotted male. What is the result of the cross?

2. If two of the offspring from the above cross are mated what percent of the offspring will be solid colored?

3. In German Shepherds the drooping ear trait is due to a dominant gene while erect ears are due to a recessive allele. However, ears do not stand up until the dogs become older. Two heterozygous dogs with drooping ears are mated and have 8 pups. How many of these pups can be expected to have erect ears?

4. A male German Shepherd with drooping ears is crossed with a female with erect ears producing a litter of pups. Four of the five pups grow up to have drooping ears. What is the genotype of the father?
5. In cabbage butterflies, white color is dominant over yellow color. A heterozygous male is mated with a homozygous recessive female. What is the result of the cross?

6. Hatinpoots have either bulging eyes (dominant) or sunken eyes (recessive). If a sunken eyed male mates with a bulging eyed female and they produce 899 bulging eyed hatinpootettes, what is the genotype of the mother?

